BUMPER
"BETWEEN PAPERS”
PRACTICE

SUITABLE FOR HIGHER TIER ONLY

Thanke o: D Enmra Weston, Kiaan
Ma(b,uimda:')ﬂ ) , Jonet Anuts,

James ‘ SUMMER 2019 .. you readk
rvgjq«ua?oﬁf

Woed

+ piobaliy

Galel = Soy DT L0 e S
rumeehot - NoT A “BEST” GUESS PAPER. J° Ml

NEITHER IS IT A “PREDICTION” ... ONLY THE EXAMINERS KNOW WHAT IS GOING TO COME UP! FACT!
You ALsO NEED TO REMEMBER THAT JUST BECAUSE A TOPIC CAME UP ON PAPER 11T MAY STILL COME
UP ON PAPERS 2 OR 3 ...

WE KNOW HOW IMPORTANT IT IS TO PRACTICE, PRACTICE, PRACTICE .... SO WE'VE COLLATED A LOAD OF
QUESTIONS THAT WEREN'T EXAMINED IN THE AQA 9-1 GCSE MATHS PAPER 1 BUT WE CANNOT
GUARANTEE HOW A TOPIC WILL BE EXAMINED IN THE NEXT PAPERS ...

ENJOY!
MEL & SEAGER

Compiled by JustMaths — this is NOT a prediction paper and should not be used as such!



1. A menu has a choice of 3 starters, 5 main courses and 4 desserts.

3x5x4 =60
How many different choices of a 3-course meal are possible?

Circle your answer.

12 23 ( 60 ) 972

(1
2. Use the quadratic formula to solve 5x2+ 11x -2 =10
Give your solutions to 2 decimal places.

OL-'S ac = _w = -1 .Fcuz)-wsx-z

o Gl & Ty »

C--2 20 e el se = - @

7o) ‘c [3]
I OVE X=-2.33}
3. y is directly proportional to x and k is a constant.

Circle the correct equation.
tnuesse pigpohion

(]
4. Written as the product of its prime factors

R

672=2°x3x7
(@) Write 252 as the product of its prime factors.
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/' \ ZZ X 3 x:}
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(b) Work out the value of the highest common factor of 672 and 252
S 1

31137.” HCF=2%x3 ] = ux3xA1 = 84

l xZJ x,:, — [
5. Show that 2x3+ Ly sz_z simplifies to 19x6_ :

2(Qxc+0) s 3(5x-2) = 4xt2 ,1Sx-6
e 6 S o
- 4xtlSx+2-6 - 9= -4
o [2]
6. Expand and simplify (2x + 5)(2x — 5)(3x + 7)
exparc 2 bodets S =
bsm‘ :u uz}%d%'zs .
(Gx?-25)(%c ) = 1223:2822-A5x -13S
(3]
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7. Write 22 — 22 4 2/50 in the form av2 where a is an integer

NZRET) 5
2697 . 258 .2 30 i2e . 1z20%.20
z o’ & e

'& J-STO < lr S‘ IOJ—Z’
1302 -2 t1002 g 2jz

= Q2

8. Prove that the sum of four consecutive whole numbers is always even.

N + net+ n+2 +0n+S3 . ntd

=2 (dnt 3)
WW@ZM Mwmc:zue/\

4 . .
9. Volume of a sphere = - mr* where r is the radius.

a) Work out the volume of a sphere of radius 8 cm

Vs gwﬁx&} s 2wy- %3 Cld?)

b) Three spheres of radius 8 cm are packed tightly into a cuboid as shown.

[4]

(3]

(2]

Work out the volume of the cuboid.

b xlfrlb - 12,288 o3 I —\C—

]

J

L
L 3

\6 6

10. To complete a task in 15 days a company needs
4 people each working for 8 hours per day.
The company decides to have

5 people each working for 6 hours per day. Sy = SO hou’S .

Assume that each person works at the same rate.

(a) How many days will the task take to complete? .80+ 206 =16 d_aa,s

You must show your working.
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e hours = 1Sxix8 = L8O
oSS

(3]



(b) Comment on how the assumption affects your answer to part (a).
remepeenloe rocth ot /VU Ot Lo /OOA-%
st frpls e Souks; Iy e Lo hoo lees

11. The region R satisfies the three inequalities

x>-3 x+ty<2

dolied bne s

Show the region R on the grid.
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12. w is directly proportional to y

w is inversely proportional to x2

Zﬁ :
4

xt

)

w
Co
a) Wheny =4, w =14

Work out the value of w wheny = ¢
W Rx b w:= &5xQ

CO<
< e 3S e BUS -

b) Whenx=2,w=15
Work out the value of w when x = 10

55£ L: SXLP:'ZO

w < ¥
x 2 3‘1
w=20 =26 =02
\O2 (op
(3]

13. Show that 222 & _¥*5 o (3w2 — 16w +5) Gt M

w2 - 25 w2 +3w+2

+b .
where a, b, c and d are integers.

Simplifies to Z\‘::+d
2(w12) ¥ WS 2 (BLo-l)(-5)

(eg)ws) (wren)sot?)
M"M* BL-Yw=%) - 2(3-1) - bus-2
Qg@uy{ftwuygw) co+ ) ot

ooncel commonfeoles

14. An approximate solution to an equation is found using this iterative process.

(5]

x)3 -3
xn+1 = %dnd X1 = -1

a) Work out the values of x, and x;
£2 z C—[)S’S 2 --LL S
g 2 Y,
Xy =

3
X3z (Y2)°-3 | _p-300628 =0 BA0L2S (9]

b) Work out the solution to 6 decimal places.
U&@bd&m - @Ns,]ﬁ*fﬁ 2
8
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15. Solve algebraically the simultaneous equations

O x+y2=25
©) y—3§2=13 5:39&4-8

k) . Bre)fias  whee $2e20-0
x%¢AQxts e A-25-0 : -G48
Lot I ¢ W <O ge-tw
Sal. U212 -0

o+ S0
oc =-8

Y-4

CS:&-»Z&)COCfS):G e "'"3"0 - -t [5]
16. Two straight lines are shown. x-= - d =&
¥y
A
(2 ~
Not drawn
& Y accurately
6 4
f
/ \ S(31,3)
J
) I
9 s 19 23 X
& —0
B is the midpoint of AC. g
TB:BS=2:3
Work out the coordinates of T.
4
™% : 8BS T 8 S g8 - 2 4
2 3 x 0l I 31 Cb
\-——08 2 ‘F76 cZx Qz)
S \¢6
Jd '3 9 3 : g)
e V' —» L
an -b
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17. Work out the value of y.

I 1
s 35 10

Not drawn
accurately

<tjf __I_S_ XS’V’&S
suL1i0

= q-158809

c Q. 1benm (Bsf) 1

18. ACB is a straight line.
A is the point (0, 8), and B is the point (4, 0)

C is the midpoint of AB. a‘WAS = :—8_ :=-2
4

Line DCE is perpendicular to line ACB.

Oracw/dc(mé=é s
pransotivougl (2,4)
E
(}j: ésﬂ-tc o | A
Q,:_éxZ*Q
€-3 2.k)

d:é ﬁfs

"1 X

Not drawn
accurately

D

Work out the equation of line DCE.

d=-217013

[5]
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19. Square OABCis drawn on a centimetre grid.

Ois (0,0) Ais (2,0) Bis (2,2) Cis (0, 2)

A

3

2
mw.na.@m.nf 1

o) |

OABCis enlarged, scale factor 2, centre (0, 0)

Circle the number of invariant points on the pgrimeter of the square.
(1

20.The area of the triangle is V300 cm?. C

T 2 5 4 5 6 K

Calculate the length of AB.
g xx (ock 3) xsn D = I300

thea;c) x _}. = 2 {3006

A
J'sco,ﬁ&a
J3(oct + 3 Q [’ _J
<x,7—~t 392 L{.JTOO ABL- 22*+52--@x8x5v6w60)
clt 3 - 0 =0 * 49
Cga_s)(ocf?)’ O Ab - Icm
x:5 x:=8
S X (8]

Compiled by JustMaths — this is NOT a prediction paper and should not be used as such!



21. Joe asked 230 students how long it took them to travel to school.

The results are shown in the table.

Travelling time, 7 (minutes) Number of students
0<tr<5 44
5<r<10 50

10<r<20 54
20<r< 30 37
30<r<60 45

This is Joe’s attempt to draw a histogram to show the data.

Travelling time

40

35

Frequency

T
GMOJW 25

M 20

30

o
w

0 5 10 20 30 60

Time, t (minutes)

Make two criticisms of his histogram.

Criticism 1 gued (r;gwm@ vudegl of ﬂeqm%o(ywjy

Criticism 2 M shoviatle wa )a Yry :S‘CQ,(Q
shoulg hawe. Lean onthe £ -0
[2]
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On the grid, enlarge the triangle by scale factor —1 i, centre (0, 2)
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